Money, Banking, & the Economy


Instructor: Mark Tomass


Answer Key to Homework 4


The ISLM Framework





1.  The LM curve shows points of equilibrium in the money market for current output and the expected real interest rate.





2.  In a closed economy, aggregate demand is the sum of desired consumption, investment, and government purchases.  In a closed economy equilibrium, desired national saving equals desired investment.





3.  A higher level of current output increases saving, so a lower real rate of interest is required to increase investment, restoring equilibrium in the goods market.  Hence, the IS curve slopes downward.





4.  A higher level of current output increases real money demand, so a higher real rate of interest is required to reduce money demand, restoring equilibrium in the money market.  Hence, the LM curve slopes upward.





5.  If money is neutral, any percentage increase in the nominal money supply leads to an equal percentage increase in the price level and nominal variables, with no effect on real output, the real interest rate, and other real variables.  Hence, if money in neutral, a 10% increase in the nominal money supply raises the price level and nominal output by 10%; nothing else changes.





6.	a)  In response to a drop in government defense purchases, national saving rises, 


            so the IS curve shifts down and to the left.


b)  In response to a drop in expected future income, national saving rises, so the 


      IS curve shifts down and to the left.


	c)  In response to an increase in expected future income, national saving falls, so


	     the IS curve shifts up and to the right.


	d)  In response to an increase in government purchases, national saving falls, so


 	     the IS curve shifts up and to the right.





7.  Desired investment declines because the new tax reduces the profitability of investment.  The real interest rate is unaffected because Puny is a small open economy (in the same way like a price taker firm which doesnot determine its price, Puny’s economy does not determine its rate of interest, thus rd = rw).  Assuming that initially Puny’s Savings = Investment and the current account is in balance with the capital account, the decline in investment will create an inequality with saving.  Since saving is unaffected while investment declines; hence, saving is greater than investment.  The surplus of saving will be lent internationally leading to a capital account deficit.  Under a floating exchange rate system, a capital account deficit must be balanced by a current account surplus.  Thus, at the new lower level of income resulting from the decline in investment, imports are less than exports.





8.  There is no effect in any case because the Yn line determines current output (none of the events cause the Yn to shift) and the IS curve is horizontal for a small open economy, so the real interest rate never changes.





9.	(a)  An upward shift of the IS curve causes the price level to rise.


	(b)  A downward shift of the IS curve causes the price level to fall.


	(c)  A rightward shift of the Yn line causes the price level to fall.


	(d)  A leftward shift of the Yn line causes the price level to rise.


	(e)  A downward shift of the LM curve causes the price level to rise.





10.  When expected inflation declines, money demand increases because of the higher return on money as an asset, so the LM curve shifts up and to the left.  When the price level falls, the LM curve shifts back to the right to restore equilibrium.  There is no effect on the real interest rate or current output.  





11.  In response to the imposition of capital controls, the economy becomes closed so that desired saving must equal desired investment.  Therefore, any change in the money supply changes r to a greater extent than in an open economy.  This situation is presented by a steeper IS curve.  A steeper IS curve will imply that any change in the money supply, will have more impact on interest rates and less impact on output (try it on a graph).





12.  The drop in money demand shifts the LM curve down and to the right.  This situation is similar to an increase in the supply of money, which in the long run leads to higher prices.  To restore equilibrium, as the price level rises, the LM curve shifts up and to the left, thus moving the economy back to its initial equilibrium.
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